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COMMERCE
Business Statistics

Time : 3 Hours Max. Marks : 100

1.

Instruction : Answer should be written fully in English or in Kannada.

SECTION-A

Answer any eight sub-questions from the following. Each question carries
2 marks. (2x8=16)

a) Define statistics.

b) State the various measures of Céntral tendency.
¢) Find mean if Median =27 and Mode = 31.

d) State limitations of Arithemetic Mean.

e) Define dispersion.

f) Write the merits and demerits of range.

g) Find ' If bxy = 0.9 and byx = 0.6.

h) If average wages paid = 65 and number of worker = 500 find total wages paid.
i) Whatis current year ?

j) What are the types of correlation ?

k) Write two regression equations.

[) What doyou mean by TRT ?

P.T.O.
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SECTION-B
Answer any 3 questions. Each carries 8 marks. (8x3=24)

2. From the following data compute Mean and Median.

Incomein < No. of workers
More than 0 100
Morethan 100 95
Morethan 200 82
Morethan 300 60
Morethan 400 45
Morethan 500 36
Morethan 600 20
Morethan 700 10

3. Calculate quartile deviation and its coefficient from the following data :
Class interval :  10-20 20-30 30-40 40-50 50-60 60-70
Frequency : 3 5 15 10 3 4
4. Calculate rank correlation coefficient from the following data :
X 58 60 60 61 62 63 64 65 66
Y : 100 58 8 92 90O 90O 8 90 9A
5. Calculate S.D. from the following data.
Mid point : 10 20 30 40 50 60 70 8 9

Frequency : 6 12 10 8 14 10 - A5 15 10
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6. Construct the consumer price index number using family budget method.

items o A B C D E<""F
Units : 120 80 40 10 5 1
Price in 2005 : 30 20 70 40 30 5,000
Pricein 2010 : 50 30 100 60 30 8,000
SECTION-C
Answer any 4 questions. Each carries 15 marks. (15%4=60)

7. Calculate Mean, Median and Mode from the following data :
Marks above . 10 20 30 40 50 60 70 8 D
No.ofStudents : 100 9% 8 75 50 38 26 18 4

8. From the data given below, state which of the two series is more variable and-

find C.V.
Variable | : 10-20 20-30 30-40 40-50 50-60 60-70
Frequency

X 10 8 12 20 5 5

Y 5 5 20 12 8 10

9. Find out if there is any relation between X &Y
X.: 45 48 52 56 60 64 68 72 76 80
Y 120 116 118 100 9% 9% B 84 72 62
10. Obtain two regression equation from following data :
X 75 88 9% 70 60 8 8 50
it 120 134 150 115 110 140 142 100

And cal. most probable value of X when'Y = 130 and value of Y when X = 85.
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11. Construct Fisher’s ideal indeﬁk from the following and show how it satisfies TRT
and FRT.

Commodity Base year Current year
| Price Quty. Price Quty.
A 20 10 24 12
B 8 20 15 24
C 4 12 14 15
D 12 6 20 8
E 15 15 30 15
IRW FS
QNIN - D
B3 3PN 03N T3R8 mﬁ@‘%ﬁ@?ﬁ NS0, B m@%ﬁ 2 90BN (2x8=16)

1. a) #o@@sm@d mﬁ)@%ﬁdsﬂ DR |

b) R FF oD BRTIT PRV, S92,

c) dadzsa:b = 27 TONR WBXRIB = 31 3533 RTHRO Q;’% 9
d) 138 ZoPRO0D TR AERTT) ?

e) NWOJoPD meséjesojoﬁ% EDD.

f) Seow3s ervmodnen Tone @J@ﬁ@ﬁd&q DR

g) bxy = 0.9 3583 byx = 0.6 &3 ‘' = 9 BorOEEOWD.
h) R0oR0 8RO 65 TN ), TRF B = 500 ST i), d@@&b&ig{ BOTIEGEIOND.
i) 2309 SR DorsBed ?
j) ABRIWOTT AT é)qsadﬁ%?dg{ D3

) 20> toordesiod RaesdendR LSewD,

) TRT &0ed om3dexd ?
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2. B3 INT B39&E00TI TR0 0= mqgssmsg{ BOTO &EIOUD.

Zlapiews) TOEI
‘0’ 308 e 100
v 23

100 %&oé 0*3?3.23 95

200 z‘g;oé oS0} 82
23

300 éo@ ézigj 60

400 %oé a.?zia‘ 45

500 3033 36
3 %3

600 %oé 65"25,23 20

700 féoé éz&gﬁ 10

3. 53 39NS RPLBC0T BT DUBCIHR) T3 TC TBRITTIR) FORNBWD.
Sre : 10-20 20-30 30-40 40-50 50-60 60-70
e 3 5 15 10 3 4

4. B339NS BRe300200 3688 BB HoLOTRI FomRREO0.

X: 5 6 6 61 6 6 64 65 66
Y: 100 58 8 %2 % % 8 ©D

5. 53 39N CeR03recn Drud FRReR (SD) FomERCO.

oo : 10 20 30 40 50 60 70 8 @

33 : 6 12 10 8 14 10 15 15 10
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6. 23633 23 Roes, 0TI BANT TeoTg, BoedIon) 0T DGRTEE) FowIRBCIID.

Sy inplots ; A B C D E =

odaamse : 120 80 40 10 5 1

We3 - 2005 : 30 20 70 40 30 5,000

W3e3-2010 : 50 30 100 60 30 8,000
MYl T

CRRTTTH 4 @%ﬁ@ﬁ NUZOR. B3 BJIN 15 woEnsL. (15%4=60)

=3

&L

L

7. 3PN TN&EC0T FTIRD, =0

3

3,8 083 WRITRBNTRI, FOTIRREN0.

@o@ﬁ@ﬁoéét&% 10

8

30 40 5 60 70 8 90

QTR ; 100 % 8 75 50 3B 26 18 4

8. B3 FTTOW B&ECIOT O3 WM @zi% B FIwE BRODT FoROBROWD 08
9230 C.V. Bow28E0000.

=[N 10-20 20-30 30-40 40-50 50-60 60-70
SN

X 10 8 12 20 5 5

Y 5 5 20 12 8 10

9. B3INT T Oa%s R RO, a’%ﬁosa%ﬁabc{ FOBIEEOUD.
X : 45 48 52 56 60 64 68 72 76 80

Y i 120 116 118 100 9% 9B B 84 72 62
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10. 35 39NT BREESC0T (a) HTR AT 00es ﬁ&ma’dwdﬁg{ FOWIEROWD (b) Y'S o3
130 f&d@@ X3 33 Tonn X' 23¢3 =85 Pamg\’ Y’ 2363 e20T3023.

X : 7 8 9% 70 60 80 8 50
Y : 120 134 150 115 110 140 142 100

11. 333YNT RAROOT $BO°S STIF zﬁamﬁsoéddgl TORIGRC0. T Ten TRT 08y FRT

TOFFNT, THTIRTRITTIOUOTY Z12e0R.
ST BRE W0 IR
| GStapialy WS 0w WS IOTR
| A 20 10 24 12
B 8 20 15 24
\{ C - 12 14 15
D 12 6 20 8
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